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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

06:30 273 150. 0 2.583 |Z=| {Ri%e06:30 Bz (REAEZEHE)
07:15 273 150.0 2.583 |Z=| {Ri&e07:15 Bz (GREEZERSE)
08:45 273 150.0 2.583 (Z=| {Ri%e08:45 Bzl (FAERSE)
09:40 273 150. 0 2.583 | =| {Ri%e09:40 Bz (KREZHE)
10:30 273 150.0 2.583 FA| 1B2i%@10:30 B3zh (RABIERSE)
11:15 273 150.0 2.583 FE| {Ri&e11:15 Bz CGRAEEE)
12:00 273 150.0 2.583 |/hfu| FhHEA@12:00 Bl (KREEZEHE)
12:40 273 150. 0 2.583 [/\A| FhHR@12:40 HEh (KAEESE)
13:20 273 150.0 2.583 [/\il§| Fi#He13:20 B3 (REAEZSE)
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P3-7

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

05:30 283 150.0 2.583 FA| 1B2i%@05:30 B3h (kB{EREE)
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08:00 283 150. 0 2.583 FA| {Ri%@08:00 Bz (kAMEEEE)
10:55 283 150.0 2.583 (£ =| {Ri%@10:55 Bz (REAEDSE)
13:20 283 150. 0 2.583 FA| 1B2i%@13:20 B3h (kAIEREE)
14:10 283 150.0 2.583 FA| 1Bi%@14:10 B3h (kPBEREE)
15:05 283 150.0 2.583 (Z=| {Ri%@15:05 Bz (FRAEHRSE)
16:30 283 150. 0 2.583 |Z=| {Ri%e16:30 Bz (REAEZHE)
2it]2264.0 (8%) 1200. 0 IHKEC: 2200, PH: 5.9

FEREHERE STEELRF (182.0 :

BRIASSPRIERE150. 0 ml.
FRBUFE NS K &PH 5. 93
FRAE NS RIFEREC 2200. 0

150.0), FAIEEHT—@E XAH5




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150

100 A

50

0.8

0.6

0.4+

0.2~

0.0
1000 -

750 -

500 A

250 -

40 -

3 4 ® VP

P3-7_0, Day=75 (2025-06-12)

V1, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2400
827
1100 '2{3s099
60
Warning: lcol ['FVI',| "FVO'] missing 80
s v — ME
B FRV —_— MW
__________________________________ .r--\__ma)@M_.

- 150

- 100

- 50

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @D76 11:49: ET=2098 Fg=2400.0 Ro=467.0

7
- 3000
- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ZE|ZE(Z=| W [ B | W [ B | ZR[(ZR|EE|(ZR|EE|(Z2R|EE |2 | 55|23 |25 (25|55 A | H [ B

- 3000

ByEt @75 19:32: ET=1440 Fg=1050. 0 Ro=nan

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

55| %=z BB | BB | BB | BB | BH | BH | B [BE(ER[KMm| B | BB |Z=|Z=|%=| B | B | B [ X[ [ KXW

- 3000

ByWoFv @D76 11:49: ET=1099 Fg=1200.0 Ro=235.0

- 2000

- 1000

55| %=z BB | BB | BB | BB | BH | BH | B [BE(ER[KMm| B | BB |Z=|Z=|%=| B | B | B [ X[ [ KXW

—_—
[ ] | _obs
—@— PPFD obs

I

801+ @ RH_obs
(] RHo_obs

FRV (ml plant-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=405, FV0=0

22.75 1
247 & 22.50 -
22.25
23
22.00 -
22 21.75
T T T T T T T
400 600 800 1000 405 410 415
m=510,m FV0=0 m=885,m FV0=0
24.75 A
24.2 1 —o— ME —o— ME
24. 50 -
24.0 -
24. 25 1
93 8 4 24. 00 A
23.75 1
23. 6 1
23. 50 -
T T T T T
510 515 520 885 890 895
m m=405,m FV0=0
39.5
—— MW
39.0 1
38.5 -
38.0 -
37.5 1
400 600 800 1000 405 410 415
m=510,m FV0=0 m=885,m FV0=0
—— MW 43.0 17 _o— MW
44. 0 -
43 8 - 42.5 -
43. 6 42.0 -
43. 4 -
41.5 1
43.2 1
510 515 520 885 890 895

23.

23.

23.

23.

22.

22.

25.

24.

24.

24.

24.

24.

41.

41.

40.

40.

39.

44.

44.

43.

43.

42.

m=440, FVO0=0
6 —o— ME
4 -
2 4
0 -
8 -
6 -
440 445 450
m=915,m FV0=0

—o— ME

0 -
8 -
6 -
4 -
2 -
0 -
915 920 925
m=440,m FV0=0
51 —e— M
0 -
5 -
0 -
5 -
440 445 450
m=915,m FV0=0

- MW

w

920 925

24.

23.

23.

23.

23.

24,

24,

24,

24

24,

43.

43.

42.

42.

45.

44.

44,

43.

m=475, FV0=0
—o— ME
0 .
8 .
6 .
4 .
2 .
475 480 485
m=970,m FV0=0
o ME
8 .
6 .
4 .
2 .
0 .
970 975 980
m=475,m FV0=0
517 —— MW
0 .
5 -
0 .
475 480 485
m=970,m FV0=0
—o— MW
0 .
5 -
0 .
5 .

970 975 980




hour

:30
115
:55
:35
110
:45
125

§_

100

80

- 60

- 40



P3-7

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:30 283 150.0 2.583 & 1Rie06:30 B (KREERE)
07:10 283 150. 0 2.583 E BRi&e07:10 Bzl (GRAERSE)
08:40 283 150.0 2.583 5| {Ri%@08:40 Bz (FAAMERSE)
09:40 283 150.0 2.583 = {Rig@09:40 B3 (RAERSE)
10:30 283 150.0 2.583 = RRi8010:30 Bzh (REAEEE)
11:15 283 150. 0 2.583 =l Rige11:15 Bz (GRAEESE)
11:55 283 150.0 2.583 =l {Rige11:55 B3 (RAERSE)
12:35 283 150.0 2.583 S| {Rige12:35 B (REAERSE)
13:10 283 150. 0 2.583 E| {Rig@13:10 B3h (RE{ERSE)
13:45 283 150.0 2.583 F BRige13:45 Bz CGRAERSE)
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15:50 283 150.0 2.583 F[ BRige15:50 Bz (GRAERRE)
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RN E STEAERT (182.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
FH[EHECE (1847.0 vs 3683.0) 145

FRBIFE NS R IFEREC 2200. 0
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:15 283 150.0 2.583 S| {Rige06:15 Bz (RAERSE)
07:00 283 150. 0 2.583 E BRi&e07:00 Ba1 (RAERRE)
07:45 283 150.0 2.583 F BRi%e07:45 B CGREERE)
09:00 283 150.0 2.583 =l {Ri%@09:00 B (RAAERSE)
10:10 283 150. 0 2.583 F BRige10:10 Bz (CGRAERESE)
11:05 283 150.0 2.583 S {Ri%e11:05 Bz (GRAERSE)
11:55 283 150.0 2.583 =l {Rige11:55 B (GRAERSE)
12:40 283 150. 0 2.583 E BRige12:40 Bz CGRAERESE)
13:20 283 150.0 2.583 5| {Ri%e13:20 B3 (RAERSE)
13:55 283 150.0 2.583 = {RRiB013:55 B (RFAKESE)
14:40 283 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:30 283 150.0 2.583 5| {Ri%e15:30 B3 (RAERSE)
16:30 283 150.0 2.583 =l RRiB016:30 B (RFAEEE)
23t 3679.0 (13%) 1950. 0 FHIKEC: 2200, PH: 5.6

RN E STEAERT (182.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

FRBVEW S RFHRPH 5.6, HTHEAEHAZEEEEEPH, 5F A%
#[EKECE (1887.0 vs 4023.0) 5

REVE WS K iKEC 2200. 0
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P3-7

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:30 278 150.0 2.583 FA| {Ri%@06:30 Bzl (kAMEE:E)
07:30 278 150.0 2.583 |Z=| 1BRi&e07:30 Bzl (GRAEEE)
09:25 278 150. 0 2.583 |Z=&| 1BRi&e09:25 Bzh (RAERE)
10:45 278 150. 0 2.583 |Z=| {Ri&e10:45 Bz (GREERSE)
11:45 278 150.0 2.583 (Z=| 1Rige11:45 Bz (REAERSE)
13:00 278 150. 0 2.583 [/\fi| {Ri%@13:00 Bz (KRAEHSE)
13:55 278 150.0 2.583 [/\ii| {Ri%@13:55 Bz (RAEHRSE)
14:45 278 150.0 2.583 FR| {Ri%@14:45 Bz CGRAEREE)
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